
DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM

WITH SERVICE OR PARTS REPLACEMENT REQUEST.

1 of 5

This product is manufactured by (GLOB) for

TWIN BED

STARDUST

OPTION 1:

Side rails in

low position

OPTION 2:

Side rails in

high position

Version #1 - 2025/03/20

     SKU#
ITEM DESCRIPTION

727Y-SR
SIDE RAILS( 2PCS)

727Y-5

727Y-6

BED PACKAGE No.

34672774

34772776

35072773

3407277P

TWIN PANEL HEADBOARD

TWIN FOOTBOARD

STYLE COLOR

     SKU#
ITEM DESCRIPTION

728Y-SR
SIDE RAILS( 2PCS)

728Y-5

728Y-6

BED PACKAGE No.

34672786

34772788

35072785

3407278P
TWIN FOOTBOARD

STYLE COLOR

PEARLIZED

WHITE

CHARCOAL

TWIN PANEL HEADBOARD

PEARLIZED

WHITE

PEARLIZED

WHITE

CHARCOAL

CHARCOAL



DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM

WITH SERVICE OR PARTS REPLACEMENT REQUEST.

2 of 5

This product is manufactured by (GLOB) for

HARDWARE PACK LOCATION

SKU#

727Y-6

ITEM DESCRIPTION
STYLE

COLOR

TWIN FOOTBOARD

728Y-6

TWIN BED

STARDUST

PEARLIZED

WHITE

CHARCOAL

34772776

34772788

Version #1 - 2025/03/20

TWIN FOOTBOARD

HARDWARE PACK

ITEM DESCRIPTION

FOOTBOARD

PRE-ASSEMBLED HARDWARE LIST

IMAGE
QTY

4 ALLEN BOLT 5/16" x 18 x 1 3/4" 4 PCS

5
SPRING WASHER 5/16"

4 PCS

6 FLAT WASHER 5/16'' x 3/4"

4 PCS

ITEM DESCRIPTION

HEADBOARD PART LIST

IMAGE
QTY

A

1 PC

HEADBOARD

(Sold separately)

SCREW M4 x 1 3/16"
10 PCS

PHILIPS SCREWDRIVER

(NOT PROVIDED)

1 PC

ITEM DESCRIPTION

FOOTBOARD PART LIST

IMAGE
QTY

D
2 PCSSIDE RAIL

ITEM DESCRIPTION

SIDE RAIL PART LIST

IMAGE
QTY

2

3

ITEM DESCRIPTION

SIDE RAIL

PRE-ASSEMBLED HARDWARE LIST

IMAGE
QTY

7

HOOK

4 PCS

8 8 PCS

9 SCREW #8 x 9/16"

16 PCS

ALLEN BOLT 1/4" x 20 x 11/16"

B

1 PCFOOTBOARD

C SLAT
5 PCS

ITEM DESCRIPTION

 HARDWARE LIST

IMAGE
QTY

1

1 PCALLEN KEY  4mm



have come loose inside the carton during shipment. Identify and count all parts and compare with the parts list below.

Read all instructions before assembling bed and keep these instructions for future reference.

Assembly Instructions:

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM

WITH SERVICE OR PARTS REPLACEMENT REQUEST.

This product is manufactured by (GLOB) for

3 of 5

STEP 1

Select the appropriate side rail position. Attach Headboard (A) Footboard (B)  to the Side

Panel (D): Loosen pre-assembled bolts from the Headboard legs and Footboard legs to

secure. Tighten bolts using Allen Key (1) provided.

STEP 1 FOR OPTION 1

SIDE RAILS IN LOW POSITION

STEP 1 FOR OPTION 2

SIDE RAILS IN HIGH POSITION

D

D

1

Step 1-1

Step 1-3 Step 1-4

Step 1-2

D

A

B

D

Assembly

positions step 1

OPTION 2

D

D

A

B

Assembly

positions step 1

OPTION 1

Step 1-1

Step 1-3 Step 1-4

Step 1-2

1

1

D

D

D

1

D

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts which may

Version #1 - 2025/03/20



have come loose inside the carton during shipment. Identify and count all parts and compare with the parts list below.

Read all instructions before assembling bed and keep these instructions for future reference.

Assembly Instructions:

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM

WITH SERVICE OR PARTS REPLACEMENT REQUEST.

This product is manufactured by (GLOB) for

4 of 5

STEP 2

Attach Slats (C) to Side Rail (D) and Tighten the screws (2) to the Side Rail (D) with a

Philips Screwdriver (3)(Not provided) by screwing the screws into place.

OPTION 1:

Side rails in

low position

2

C

3

OPTION 2:

Side rails in

high position

2

C

3

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts which may

Version #1 - 2025/03/20



have come loose inside the carton during shipment. Identify and count all parts and compare with the parts list below.

Read all instructions before assembling bed and keep these instructions for future reference.

Assembly Instructions:

DO NOT USE SUBSTITUTE PARTS. PLEASE CONTACT YOUR RETAIL STORE OR WWW.ROOMSTOGO.COM

WITH SERVICE OR PARTS REPLACEMENT REQUEST.

This product is manufactured by (GLOB) for

5 of 5

STEP 3

A mattress foundation is required for proper assembly with mattress. Place the mattress

foundation (not provided) on top of the slats

M

a

t

t

r

e

s

s

 

f

o

u

n

d

a

t

i

o

n

r

e

q

u

i

r

e

d

 

f

o

r

 

p

r

o

p

e

r

a

s

s

e

m

b

l

y

 

w

i

t

h

m

a

t

t

r

e

s

s

M

a

t

t

r

e

s

s

 

f

o

u

n

d

a

t

i

o

n

r

e

q

u

i

r

e

d

 

f

o

r

 

p

r

o

p

e

r

a

s

s

e

m

b

l

y

 

w

i

t

h

m

a

t

t

r

e

s

s

OPTION 1:

Side rails in

low position

OPTION 2:

Side rails in

high position

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts which may

Version #1 - 2025/03/20




